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1.1 Jwpbjwhnn 15901.4 11733.0 174.5 3833.7 160.0 0.2
1.2 3 pwqiwdjw wnulwplubn, punwdbup 4741.3 4329.2 231.4 167.8 12.9
1.2.1 g wyn pYn®  wwnwwnnt wygh 2927.5 2595.8 169.4 150.1 12.3
1.2.2 Jé fuwnnnh wygh 1813.8 1733.4 62.0 17.8 0.6
1.2.3 g wy|
c
1.3 g funinhwpp 592.0 559.6 32.4
1.4 d- wpnwn
1.5 wy| hnnwwnbuptin
1 Cunwdbkup 21234.6 16621.7 405.9 4034.0 172.9 0.2
2.1 - puwybh unniguwwwndwu 6285.3 6284.1 1.0 0.2
211 JE wjn pYnw tnuwdkipéd hnnkip 6010.6 6009.4 1.0 0.2
2.1.2 3 wjgtignpdwywu (wdwnwungwyht) 274.7 274.7
2.2 % punhwunip oguwgnpddwu
2.3 & wy hnntip
2 o Cunwdbup (2.1+2.2+2.3) 6285.3 6284.1 1.0 0.2
3 3.Upnyntuwp, punbippogun., b wy| wpwn. Lwuwynipjwu
4 4.Eubpgbnphlwih, wpwuuw., Yuwh, Yndntuwg
Gupwlwnnigwdputiph op.
5 5. wwnny wwhwwuynn tnwpwdpubinh
6 |6. Cwwnny tpwlwlniejwu
7.1 wlwnwn
7.2 = phntn
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7.3 3 unbijwhnn
7.4 g funinhwpp
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7.6 wy| hnntip
7 Cunwdbkup
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9 9. Mwhntuwnwyhu
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1.1 Jwpbjwhnn 17418.4 13651.7 359.9 3283.6 104.3 18.9
1.2 3 pwqiwdjw wnulwplubn, punwdbup 9497.8 9028.4 167.7 299.0 0.0 2.7
1.2.1 g wyn pYn®  wwnwwnnt wygh 5112.0 4934.1 48.9 127.6 1.4
1.2.2 E fuwnnnh wigh 4385.5 4094.0 118.8 171.4 0.0 1.3
1.2.3 g wy| 0.3 0.3
c
1.3 g funinhwpp 316.1 166.1 150.0
1.4 d- wpnwn
1.5 wy| hnnwwnbuptip
1 Cunwdbkup 27232.3 22846.2 527.6 3732.5 104.4 21.6
2.1 - puwybh junniguwwwndwu 7551.6 7503.7 5.8 34.6 7.5
211 JE wyn pYnw tnuwdkipéd hnnkp 74431 7403.7 5.8 26.1 7.5
2.1.2 3 wjgtignpdwywu (wdwnwungwyht) 100.6 99.8 0.8
2.2 % punhwunip oguwgnpddwu
2.3 & wy hnntip
2 o Cunwdbup (2.1+2.2+2.3) 7551.6 7503.7 5.8 34.6 7.5
3 3.Upnyntuwp, punbippogun., b wy| wpwn. Lpwuwyniejwu
4 4.Eubpgbnhlwih, wpwuuw., Yuwh, Yndntuw]
Gupwlwnnigwdputiph op.
5 5. wwnny wwhwwuynn tnwpwdpubinh
6 |6. Cwwnnly bpwlwlniejwu
7.1 wlwnwn
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=
7.3 3 unbijwhnn
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7.5 S wpnun
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7.6 wy| hnntip
7 Cunwdbkup
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9.Mwhniunwjhu
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1.1 Jwpbjwhnn 39119.9 31710.3 963.1 5709.9 661.2 75.5
1.2 3 pwqiwdjw wnulwplubn, punwdbup 12174.6 10887.4 814.5 451.4 21.3
1.2.1 g wyn pYn®  wwnwwnnt wygh 6663.0 6050.6 358.5 245.7 8.2
1.2.2 E fuwnnnh wygh 5511.6 4836.8 456.0 205.7 13.1
1.2.3 g wy|
c
1.3 = funwhwpp 3.0 3.0
1.4 d- wpnwn
1.5 wy| hnnwwnbuptip
1 Cunwdbkup 51297.5 42600.7 1777.6 6161.2 661.2 96.8
2.1 - puwybh junniguwwwndwu 10356.1 10356.1
211 JE wyn pYnL tnuwdkipéd hnnkp 10128.3 10128.3
2.1.2 3 wjgtignpdwywu (wdwnwungwyht) 227.8 227.8
2.2 % punhwunip ogunwgnpddwu
2.3 & wy hnntip
2 o Cunwdbup (2.1+2.2+2.3) 10356.1 10356.1
3 3.Upnyntuwp, punbippogun., b wy| wpw. Gpwuwyniejwu
4 4.Eubpgbnplwih, wpwuuw., Yuwh, Yndniuw]
Gupwlwnnigwdputiph op.
5 5. wwnny wwhwwuynn tnwpwdpubinh
6 |6. Cwwnny bpwlwlniejwu
7.1 wlwnwn
7.2 2 pthntn
7.3 g Jwpbjwhnn
7.4 g funinhwpp
7.5 S wpnun
7.6 = wy| hnntip
7 Cunwdbkup
8 | 8.2pwjhu
9 9. Mwhntuwnwjhu
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2.1.1 JE wjn pYnw tnuwdkipé hnnkip 8007.6 8007.6
2.1.2 E) wgbgnndwlwl (wiwnwlingwht)
2.2 % punhwunip oguwgnpddwu
2.3 & wy hnntip 135.4 135.4
2 o Cunwdbup (2.1+2.2+2.3) 8143.0 8007.6 135.4
3 3.Upnyntuwp, punbippogun., b wy| wpw. Lpwuwyniejwu
4 4.Eubpgbnhlwih, wpwuuw., Yuwh, Yndntuw]
Gupwlwnnigwdputiph op.
5 5. wwnny wwhwwuynn tnwpwdpubinh
6 |6. Cwwnny bpwlwlniejwu
7.1 wlwnwn
7.2 s pthntn
=
7.3 g Jwpbjwhnn
7.4 g funinhwpp
7.5 S wpnun
7.6 = wy| hnntip
7 Cunwdbkup
8 | 8.2pwjhu
9 9. Mwhntuwnwihu
CLAUUBLE NANGYNT LNEN /1+2+3+4+5+6+7+9/ 11264.0 10472.4 791.6
<UGUESYNRa3NhL

Cwjwuwnwuh Cwupwwbwnipjwu nnngynn hnnbiph  hnnwiht $nunh wnwjnipjwu U pwofudwu

(puin bywwnwywihtu vpwuwyniyejwu, hnnuwnbuptph nt gnpdwnuwywu tpwuwynigjwu W ubthwlwuniejwu untpGynubph )
wn 01.07.2016 p.

Uuwnq | Lnnh |
G
dwpgh wpswywt uwhdwuubpnud
=]
% EE g § Utithwlwuntpjwt untpjtiyun
g o
= = P < <~
NN 3 S Snpdwnuwlywu upwuwlnieintl, s < 5 3 - = 33
S 3 hnnuintiup S S 3 3 3 2 53 3
3 3 z B 3 o ,§ o 3 522 3
: 3 sl 3% | & 55| £ | 3 Ezi:
P o =| £2£ |, & L33 3 RN
>| &=k V3= |JYES E T B 533
u [ S 1 2 3 4 5 6
1.1 Jwpbjwhnn 7238.6 6405.1 77.7 755.8
1.2 3 pwquwdjw wnuywnplubn, punwdbup 265.2 207.0 9.2 49.0
1.21 g wyn pyYntd’ wwnnwwnnt wjgh 188.2 146.3 46 37.3
1.2.2 Jg fuwnnnh wgh 77.0 60.7 45 11.8
1.2.3 % wy|
c
1.3 ] funuinhwpp 108.4 108.4
1.4 d' wpnun
1.5 wy| hnnwunbuptin
1 Cunwdbkup 7612.1 6720.5 86.8 804.8
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2.3 & wy| hnntip
2 o CUnwdbup (2.142.242.3) 2000.0 1998.1 19
3 3.Upryntuwp, punbippogun., b wy| wpw. Lywuwynipjwu
4 4.Eubpgbwnhlwyh, npwuuy., Yuwh, Yndntuw
Gupwywnnigywdputiph op.
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1.1 Jwpbjwhnn 9886.0 8592.6 0.0 1287.4 6.0
1.2 3 pwqiwdjw wnulwplubn, punwdbup 2848.9 2701.7 58.9 80.7 7.6
1.21 3 wyn pYntd’ wwnnwunnt wygh 2413.2 2268.2 58.9 78.7 7.4
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1.2.2 E fuwnnnh wigh 435.7 433.5 2.1 0.2
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1.3 ] funinhwpp 9.1 4.8 4.3
1.4 d' wpnun
1.5 wy| hnnwwnbuptin
1 Cunwdbkup 12744.0 112991 58.9 1372.4 13.6
2.1 - puwybh junniguwwundwu 5790.2 5781.6 8.6
211 -E wyn eYnwd inuwdkipd hnnkip 5294.0 5285.4 8.6
2.1.2 _3; wjgbignpdwywu (wdwnwungwjh) 496.2 496.2
3
2.2 3 punhwuntp ogunwgnpddwu
2.3 & wy| hnntip
2 o Cunwdbup (2.1+2.2+2.3) 5790.2 5781.6 8.6
3 3.Upryntuwp, punbippogun., U wy| wpw. Lywuwynipjwu
4 4.Eubpgbwnhlwyh, npwuuy., Yuwh, Yndntuw
Gupwywnnigwdputiph op.
5 5. wwnniy wwhwwuynn nwpwdpubiph
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7.6 wy| hnntip
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9 9.Mwhntunwjhu
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1.1 Junbijwhnn 15016.9 12536.9 2202.8 277.3
1.2 3 pwqiwdjw wnulwplubn, punwdbup 39.2 2.2 37.0
1.2.1 g win pYnt®  wwnwwnnt wigh 39.2 2.2 37.0
1.2.2 Jé fuwnnnh wigh
1.2.3 g wy|
c
1.3 = funihwpp 13.2 13.2
1.4 d- wpnwn
1.5 wy| hnnwwnbuptin
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21 < puwybh junniguwwwndwu 5011.2 5011.2
211 JE wjn pYnw tnuwdkipéd hnnkip 4988.6 4988.6
2.1.2 3 wjgtignpdwywu (wdwnwungwyht) 22.6 22.6
2.2 % punhwunip oguwgnpddwu
2.3 & wy hnntip 9.1 9.1
2 o Cunwdbup (2.1+2.2+2.3) 5020.3 5011.2 9.1
3 3.Upnyntuwp, punbippogun., b wy| wpwn. Lwuwynipjwu
4 4.Eubpgbnphlwih, wpwuuw., Yuwh, Yndniuw]
Gupwlwnnigwdputiph op.
5 5. wwnny wwhwwuynn tnwpwdpubinh
6 |6. Cwwnny bpwlwlyniejwu
7.1 wlwnwn
7.2 = pthntn
=
7.3 3 Jwnbijwhnn 15.1 15.1
7.4 g funinhwpp
7.5 S wpnun
~
7.6 wy| hnntip
7 Cunwdbkup 15.1 15.1
8 | 8.2pwjhu
9.Mwhniunwjhu
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1.1 Jwpbjwhnn 4332.0 3420.0 901.5 10.5
1.2 3 pwqiwdjw wnulwplubn, punwdbup 792.2 615.0 177.2
1.21 g wyn pYntd' wwnnwwnnt wjgh 721.3 568.4 152.9
1.2.2 E fuwnnnh wygh 70.8 46.5 24.3
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1.3 ] funinhwpp 264.1 192.7 71.4
1.4 d' wpnun
1.5 wy| hnnwwnbuptin
1 Cunwdbkup 5388.2 4227.6 1150.1 10.5
2.1 - puwybh junniguwwwndwu 2797.2 2783.2 14.0
2141 JE wyn YN tnuwdtipd hnnkip 2635.3 2635.3
2.1.2 _3; wjgbignpdwywu (wdwnwungwjh) 147.9 147.9
3
2.2 3 punhwuntp ogunwgnpddwu
2.3 & wy| hnntip
2 o Cunwdbup (2.1+2.2+2.3) 2797.2 2783.2 14.0
3 3.Upryntuwp, punbippogun., b wy| wpw. Gywuwynipjwu
4 4.Eubpgbwnhlwyh, npwuuy., Yuwh, Yndntuw
Gupwywnnigwdputiph op.
5 5. wwnnty wwhwwuynn nwpwdpubinh
6 |6. Cwwnniy bpwuwlynipjwu
7.1 wuwnwn
7.2 S pntin
&
7.3 3 unbijwhnn
7.4 g funihwpp
7.5 5 wpnwn
~
7.6 wy| hnntip
7 Cunwdbup
8 | 8.2pwjhu
9 9.Mwhntunwjhu
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1.1 unbijwhnn 2762.2 2461.0 4.0 297.2
1.2 3 pwqiwdjw wnulwplubn, punwdbup 1682.7 1352.5 44.0 286.2
1.2.1 3 wyn pYnd®  winwwnnt wygh 862.5 703.2 3.0 156.4
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5 5. wwnny wwhwwuynn tnwpwdpubinh
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